T

HERERH ARRAS (HEDL)
10,22,11,/12
Y= b RAFHENR AHTREFTE

/ .Y
it e o s iR
L 1
i L 2 . e w M =

2
Fradigy s 20 G
== Y= e T
PHERE 1 2 fH P L
C  —

s N
FIFRTE s 1 A 2 ¥ &
TR 6 — - 23 EA L
= 13 1 o
g AR T 2 Hij PR
< 2 0 e
RN ==
A 20 10 1 2 B W
N UGN, 0 =z —-
TG 1—s , ——% 5§ R

2 J
—— D]
jtﬁfﬁﬁ 14 . 1 31 Hﬁ @
j( ﬁ‘ 15 e— 0 p— 3 m I
mOH 1e—— —s fil %
1AL~ 47
N B &#E C mp D fig A RS JIEAE
A BIfE 3 — 213 — 2|3 — 0 3] o] 6 1
B &3 2 — 3 3 — 113 — 1 2 1| 5 2
C &= 2 — 3|1 — 3 2 — 3| of 3 3 4
D {F¥ 0 — 3|1 — 3|3 — 2 1 2f 4 3
5\ i~ 8 ir
A i |B MiEg |C Hipd  |D HESHE AR A ES JIEAL
A B 0 — 32 — 31 — 3 ol 3] 3 8
B firg 3 — 0 3 — oo — 3| 2f 1f 5] 1 6
C HipE 3 — 210 — 3 3 — 2 2| 1| 5|o0.6 7
D Hi%& 3 — 1 3 — 0 2 — 3 2 1 5(1.7 5
kUL, 2MLOEIT12 A 26 H ~27 A A7) I RFRBLR 7 TR S 2 B miRB i s Ek K 2 5,
k3N, ANEOFARIT12H 26 H ~27 B ISH AN AR T CHfE S 2 B @B A HER R =1 5,




